On Some Fixed Point Results and Properties of $C_{\lambda_1,\lambda_2,....,\lambda_n}$ Mappings

NADJEH REDJEL AND ABDELKADER DEHICI

Abstract

In this paper, we introduce the notion of $C_{\lambda_1,\lambda_2,\ldots,\lambda_n}$ mappings as an extension of Suzuki mappings. Some results concerning fixed points of theses mappings and the the convergence of Kirk's Process associated to them are studied.

Mathematics Subject Classification (2010): 47H10 54H25

1 Introduction

It's well known that the works of W. A. Kirk, D. Gohde and F. E. Browder (1965-1966) [2, 8, 12] on the existence of fixed points for nonexpansive mappings have been of great impact on fixed point theory, by involving the geometry of Banach spaces in the study which was new since the famous Banach contraction principle (1922). The problem that a nonexpansive mapping on a convex bounded subset of an arbitrary Banach space has or not at least a fixed point is in general delicate, it needs a good knowledge of the geometry of the space or its closed bounded subsets as was the case of Hilbert spaces which is reflexive having the normal structure or others characterized by certain quantities linked to the norm of the space. The question of wether nonexpansive mappings defined on the closed bounded convex subsets of Banach spaces have or not fixed points is known under the abbreviation FPP (fixed point property). After the works mentioned above, L. A. Karlovitz (1976) [9] established the FPP property for spaces without normal structure, after, B. Maurey [15] showed that the space c_0 and each reflexive subspace of $L_1([0, 1])$ have the property FPP, in 1981, D. Alpasch [1] gave a counter-example of a fixed point free nonexpansive mapping on a closed bounded convex subset of $L_1([0,1])$, notice that his example is an isometry and the problem is always open concerning the contractive case. In 1997, P. L. Dowling and C. J. Lennard [3] proved that in $L_1([0,1])$ the reflexivity of subspaces is a necessary and sufficient condition to have the property FPP. Notice that Goebel-Karlovitz [5, 6] Lemma and ultra-product spaces [10, 11] are a power full tools which have helped to overcome many problems in the theory. For a good read on this subject, we can quote [5, 6, 7, 10, 11, 14]and the references therein.

Keywords: Banach space, C_{λ} mappings, $C_{\lambda_1,\lambda_2,....,\lambda_n}$ mappings, fixed point, Kirk's process. Corresponding author address: Laboratory of Informatics and Mathematics University of Souk-Ahras, P.O.Box 1553, Souk-Ahras 41000, Algeria

E-mails: dehicikader@yahoo.fr

In (2008), T. Suzuki [16] introduced the notion of $C_{\lambda}(\lambda \in (0, 1))$ -mappings as an extension of nonexpansive mappings. He showed that this class of mappings is wider than that of nonexpansive ones and he established some remarkable properties. In this work, we observe that the reasoning of T. Suzuki can be generalized to the case of $C_{\lambda_1,\lambda_2,\ldots,\lambda_n}$ -mappings with $\sum_{i=1}^n \lambda_i \leq 1$ by noticing that the Krasnoselskii process used by Suzuki can be replaced by Kirk's process more general. Our results are extensions of some one given respectively in [13, 16].

2 Notations and Preliminaries

Definition 2.1 Let T be a mapping on a subset C of a Banach space X and $\lambda \in (0, 1)$. T is said to satisfy condition C_{λ} if

$$\lambda \|x - Tx\| \le \|x - y\| \Longrightarrow \|Tx - Ty\| \le \|x - y\|$$

For $\lambda = \frac{1}{2}$, T is said to satisfy condition C or T is said to be Suzuki mapping. These classes of mappings are introduced by T. Suzuki as an extension of nonexpansive mappings and it is shown that we can construct a lot of C_{λ} mappings which are not nonexpansive. On the other hand is clear that if $\lambda_1 \leq \lambda_2$ thus C_{λ_1} implies C_{λ_2} . On the other hand, if C is convex and T satisfies condition C_{λ} for $\lambda \in (0, 1)$, then for every $\alpha \in (\lambda, 1)$ the mapping $T_{\alpha}: C \longrightarrow C$ defined by $T_{\alpha}x = \alpha Tx + (1 - \alpha)x$ satisfies condition $(C_{\frac{\lambda}{\alpha}})$. Also, notice that it is possible that the mapping is not C_{λ} but one of its powers satisfy this property as the following example indicated in [4].

Example 2.1 Define the mapping T on [0,3] by

$$T(x) = \begin{cases} 0 & \text{if } x \neq 3\\ 2 & \text{if } x = 3 \end{cases}$$

T does not satisfy the condition C, but it is easy to observe that $T^2 \equiv 0$ and hence T^2 satisfies trivially this condition.

Definition 2.2 Let $T: X \longrightarrow X$ be a mapping acting on a metric space (X, d) and let (x_n) be a sequence in X. (x_n) is said to be an approximate fixed point sequence for T if

$$\lim_{n \to \infty} d(x_n, T(x_n)) = 0.$$

Definition 2.3 Let $T: X \longrightarrow X$ be a mapping acting on a metric space (X, d). T is said to be asymptotically regular if for every $x_0 \in C$, the sequence $x_n = T^n(x_0)$ is an approximate fixed point sequence for T.

Lemma 2.1 Let C be a bounded convex subset of a Banach space X. Assume that $T: C \longrightarrow C$ satisfies condition C_{λ} for $\lambda \in (0, 1)$. For $\alpha \in (\lambda, 1)$ define a sequence (x_n) in C by taking $x_1 \in C$ and

$$x_{n+1} = \alpha T x_n + (1 - \alpha) x_n$$
, for all $n \ge 1$

Then (x_n) is an approximate fixed point sequence.

Recall that for $\alpha = \frac{1}{2}$, the sequence $x_{n+1} = \frac{1}{2}Tx_n + \frac{1}{2}x_n$ is called the Krasnoselskii process associated to T and (x_n) .

Remark 2.1 Let C be a bounded convex subset of a Banach space X and let (x_n) be a sequence in C. If $\lambda \in (0, 1)$, one of the advantages of Krasnoselskii process is that (x_n) is an approximate fixed point sequence for T if and only if (x_n) is an approximate fixed point sequence for $S = \lambda I + (1 - \lambda)T$ (I is the identity mapping on C). Indeed, this fact follows immediately from the formula

$$||S(x_n) - x_n|| = (1 - \lambda)||T(x_n) - x_n||$$

which is not true for other processes.

Definition 2.4 A uniformly convex Banach space X is a Banach space such that for every $0 < \epsilon \leq 2$ there is some $0 < \delta$ such that for any two vectors x, y with ||x|| = ||y|| = 1, the condition $||x - y|| \geq \epsilon$ implies $\frac{||x + y||}{2} \leq 1 - \delta$.

A strictly convex Banach space X is a Banach space such that for every $x, y \in X$, if $x \neq 0, y \neq 0$ and ||x + y|| = ||x|| + ||y|| then necessarily we obtain that x = cy for some c > 0.

It is known that every uniformly convex Banach space is strictly convex while the converse is not true in general (see [6]). Also uniformly Banach spaces are reflexive.

Definition 2.5 Let $T : C \longrightarrow C$ be a mapping acting on a convex subset C of a Banach space X. Let $\lambda_0, \ldots, \lambda_n \in (0, 1)$ such that $\lambda_1 > 0$ and $\sum_{i=0}^n \lambda_i = 1$. The sequence $(x_m) \subset C$ defined by $x_1 \in C$ and

$$x_{m+1} = \lambda_0 x_m + \lambda_1 x_m + \dots + \lambda_n T^n(x_m).$$

is called Kirk's process associated to the sequence (x_n) and the mapping T.

Definition 2.6 Let
$$T$$
 be a mapping on a subset C of a Banach space X and $\lambda_1, \ldots, \lambda_n \in$
(0,1) such that $\sum_{i=1}^n \lambda_i < 1$ with $\lambda_1 > 0$. T is said to be $C_{\lambda_1,\lambda_2,\ldots,\lambda_n}$ mapping if
 $\sum_{i=1}^n \lambda_i ||x - T^i x|| \le ||x - y|| \Longrightarrow \sum_{i=0}^n \lambda_i ||T^i x - T^i y|| \le ||x - y||$
where $\lambda_0 \in (0,1)$ is such that $\sum_{i=0}^n \lambda_i = 1$.

Remark 2.2 $C_{\lambda_1,\lambda_2,...,\lambda_n}$ can be seen as an extension of $(\alpha = (\alpha_1,...,\alpha_n))$ nonexpansive mappings introduced by M. J. Pineda for $\lambda_0 = 0$ (for more details, see [7]).

3 Main Results

Lemma 3.1 For n = 1 the previous definition is reduced to the case of C_{λ} mappings. *Proof.* Indeed, if for $\lambda_1 \in (0, 1)$ we have

$$\lambda_1 \|x - Tx\| \le \|x - y\| \Longrightarrow \sum_{i=0}^{1} \lambda_i \|T^i x - T^i y\| \le \|x - y\|$$

Then if $\lambda_0 \in (0,1)$ for which $\lambda_0 + \lambda_1 = 1$ we obtain that

$$\lambda_0 \|x - y\| + \lambda_1 \|Tx - Ty\| \le \|x - y\| = \lambda_0 \|x - y\| + \lambda_1 \|x - y\|$$

It follows that

$$\lambda_1 \|Tx - Ty\| \le \lambda_1 \|x - y\|$$

Since, $\lambda_1 \in (0, 1)$ then $\lambda_1 \neq 0$, we get

$$\|Tx - Ty\| \le \|x - y\|$$

which is the desired result.

Proposition 3.1 Let T be a mapping on a subset C of a Banach space X and let $\lambda_1, \ldots, \lambda_n \in (0, 1)$ for which $\lambda_1 > 0$ and $\sum_{i=1}^n \lambda_i < 1$. Assume that for each $i = 1, \ldots, n$, T^i is a C_{λ_i} mapping. Then T is a $C_{\lambda_1,\lambda_2,\ldots,\lambda_n}$ mapping.

Proof. Assume that

$$\sum_{i=1}^{n} \lambda_i \|x - T^i x\| \le \|x - y\|$$

For every i = 1, ..., n, this implies that

$$\lambda_i \|x - T^i x\| \le \|x - y\|$$

By hypothesis, the fact that T^i is a C_{λ_i} mapping implies that

$$||T^{i}x - T^{i}y|| \le ||x - y||$$

and hence

$$\lambda_i \|T^i x - T^i y\| \le \lambda_i \|x - y\| \text{ for all } i = 1, \dots, n$$

Consequently, by summation and using the fact that $\sum_{i=0}^{i} \lambda_i = 1$, we infer that

$$\sum_{i=0}^{n} \lambda_i \|T^i x - T^i y\| \le \|x - y\|$$

which is the desired result.

Corollary 3.1 Let *T* be a nonexpansive mapping on a subset *C* of a Banach space *X*. Then *T* is a $C_{\lambda_1,\lambda_2,\ldots,\lambda_n}$ mapping for every $\lambda_1,\ldots,\lambda_n \in (0,1)$ with $\lambda_1 > 0$ and $\sum_{i=1}^n \lambda_i < 1.$

Proof. For every integer $i \ge 1$ we have

$$||T^{i}x - T^{i}y|| \le \dots \le ||x - y||$$

which implies that T^i is a nonexpansive mapping for all integer $i \ge 1$. Hence for all $i = 1, ..., n, T^i$ is a C_{λ_i} mapping. Now the result is an immediate consequence of Proposition 1.1.

Lemma 3.2 (see [16], Lemma 5) Let T be mapping on a subset C of a Banach space X. Assume that T is a C mapping. Then for every $x, y \in C$, the following hold.

(i)
$$||Tx - T^2x|| \le ||x - Tx||.$$

(ii) Either $\frac{1}{2}||x - Tx|| \le ||x - y||$ or $\frac{1}{2}||Tx - T^2x|| \le ||Tx - y||$ holds
(iii) Either $||Tx - Ty|| \le ||x - y||$ or $||T^2x - Ty|| \le ||Tx - y||.$

As an extension of Lemma 1.3, we have the following result concerning $C_{\lambda_1,\ldots,\lambda_n}$ mappings.

Lemma 3.3 Let T be mapping on a subset C of a Banach space X and let $\lambda_0, \ldots, \lambda_n \in (0,1)$ and $\sum_{i=0}^{n} \lambda_i = 1$. Assume that T is a $C_{\lambda_1,\lambda_2,\ldots,\lambda_n}$ mapping. Then for every $x, y \in C$, the following hold.

$$\begin{aligned} &(i) \sum_{i=0}^{n} \lambda_{i} \| T^{i}x - T^{i+n(x)}x \| \leq \| x - T^{n(x)}x \| \text{ where } n(x) \text{ is the integer such that } \| x - T^{n}(x) \| = \max\{\| x - T(x) \|, \dots, \| x - T^{n}(x) \|\}. \\ &(ii) \text{ If } \lambda_{0} \geq \frac{1}{2}. \text{ Then, either } \sum_{i=1}^{n} \lambda_{i} \| x - T^{i}x \| \leq \| x - y \| \text{ or } \sum_{i=1}^{n} \lambda_{i} \| T^{i}x - T^{i+n(x)}x \| \leq \| T^{n(x)}x - y \| \\ &(iii) \text{ If } \lambda_{0} \geq \frac{1}{2}. \text{ Then either } \sum_{i=0}^{n} \lambda_{i} \| T^{i}x - T^{i}y \| \leq \| x - y \| \text{ or } \sum_{i=0}^{n} \lambda_{i} \| T^{i}x - T^{i+n(x)}y \| \leq \| T^{n(x)}x - y \| \\ &\| T^{n(x)}x - y \| + \sum_{i=0}^{n} \lambda_{i} \| T^{i+n(x)}x - T^{i+n(x)}y \|. \end{aligned}$$

Proof. (i) Let $x \in C$. Assume that $n(x) \ge 1$ is the integer for which $||x - T^{n(x)}(x)|| = \max\{||x - T(x)||, \dots, ||x - T^n(x)||\}$. Thus from the inequality

$$\sum_{i=1}^{n} \lambda_i \|x - T^i x\| \le \|x - T^{n(x)} x\|$$

it follows that

 $\overline{i=0}$

$$\sum_{i=0}^{n} \lambda_i \|T^i x - T^{i+n(x)} x\| \le \|x - T^{n(x)} x\|$$

(n) Arguing by contradiction and assume that

$$\sum_{i=1}^{n} \lambda_i \|x - T^i x\| > \|x - y\| \text{ and } \sum_{i=1}^{n} \lambda_i \|T^i x - T^{i+n(x)} x\| > \|T^{n(x)} x - y\|$$

Hence, it follows that

$$||x - T^{n(x)}x|| \le ||x - y|| + ||T^{n(x)}x - y||$$

$$< \sum_{i=1}^{n} \lambda_i ||x - T^ix|| + \sum_{i=1}^{n} \lambda_i ||T^ix - T^{i+n(x)}x||$$

By using (i), it follows that

$$||x - T^{n(x)}x|| < 2(1 - \lambda_0)||x - T^{n(x)}x||$$

Since $\lambda_0 \geq \frac{1}{2}$ we get a contradiction.

(*iii*) follows immediately from (*ii*). Indeed, if $\sum_{i=1}^{n} \lambda_i ||x - T^i x|| \le ||x - y||$, the fact that T is a $C_{\lambda_1, \lambda_2, \dots, \lambda_n}$ mapping, we get that $\sum_{i=0}^{n} \lambda_i ||T^i x - T^i y|| \le ||x - y||$.

Now if $\sum_{i=1}^{n} \lambda_i \|T^i x - T^{i+n(x)} x\| \le \|T^{n(x)} x - y\|$, by the triangular inequality and using (*i*) we obtain that

$$\sum_{i=0}^{n} \lambda_i \|T^i x - T^{i+n(x)} y\| \le \sum_{i=0}^{n} \lambda_i \|T^i x - T^{i+n(x)} x\| + \sum_{i=0}^{n} \lambda_i \|T^{i+n(x)} x - T^{i+n(x)} y\|$$
$$\le \|x - T^{n(x)} x\| + \sum_{i=0}^{n} \lambda_i \|T^{i+n(x)} x - T^{i+n(x)} y\|$$

Remark 3.1 As it was indicated above, Lemma 1.3 is a particular case of Lemma 1.4 by taking n = 1 and n(x) = 1 for all $x \in C$.

T be a mapping on a subset C of a Banach space X. We denote by F(T) the set of fixed points of T.

Lemma 3.4 Let T be mapping on a subset C of a Banach space X and let $\lambda_0, \ldots, \lambda_n \in (0,1)$ with $\lambda_1 > 0$ and $\sum_{i=0}^n \lambda_i = 1$. Assume that T is a C_{λ} mapping. Let P is the real polynomial given by

$$P(x) = \lambda_0 + \dots + \lambda_n x^n.$$

Assume that for every $x_0 \in F(P(T))$, the first alternative in (*iii*) of Lemma 1.3 holds for all $x, y \in O(x_0)$. Then F(T) = F(P(T)).

Proof. If $x_0 \in F(T)$, it's clear that $x_0 \in F(P(T))$. Now assume that $x_0 \in F(P(T))$ and we denote by

$$\delta = \max\{\|T^{i}x - T^{j}x\|, i, j = 0, ..., n, i \neq j\}.$$

The fact that the first alternative of the assertion (m) in Lemma 1.3 holds for every $x, y \in O(x_0)$ implies the existence of a smallest integer $m_0 \ge 1$ such that $\delta = ||x_0 - T^{m_0}x_0||$. Assume that $\delta > 0$. It is easy to write x_0 under the form

$$x_0 = \alpha T x_0 + (1 - \alpha) z.$$

where $z \in conv\{T^2x_0, \dots, T^nx_0\}$. It follows that

$$\delta = \|x_0 - T^{m_0} x_0\| \le \|\alpha T x_0 + (1 - \alpha) z - T^{m_0} x_0\|.$$

$$\le \alpha \|T x_0 - T^{m_0} x_0\| + (1 - \alpha) \|z - T^{m_0} x_0\|.$$

This proves that $\delta \leq ||Tx_0 - T^{m_0}x_0|| \leq ||x_0 - T^{m_0-1}x_0||$ which is a contradiction if $m_0 > 1$. Hence $m_0 = 1$, also here we obtain a contraction since we get $\delta \leq ||Tx_0 - Tx_0|| = 0$. Hence necessarily $\delta = 0$ and $Tx_0 = x_0$ which proves that $x_0 \in F(T)$ which is the desired result.

Remark 3.2 Let T be mapping on a subset C of a Banach space X. Assume that T is a C_{λ} mapping. If for every $x_0 \in C$ and let $m_0, m_1(m_0 < m_1)$ the smallest integers such that $\delta = ||T^{m_0}x - T^{m_1}x|| = \max\{||T^jx - T^kx||\}, j, k = 0, 1, ..., n$. Then by (i) of Lemma 1.3, necessarily $m_1 \neq m_0 + 1$.

Proposition 3.2 Let T be mapping on a subset C of a Banach space X and let $\lambda_0, \ldots, \lambda_n \in (0, 1)$ with $\lambda_1 > 0$ and $\sum_{i=0}^n \lambda_i = 1$. Assume that T is a $C_{\lambda_1, \lambda_2, \ldots, \lambda_n}$ mapping which has a fixed point. Then the mapping $\sum_{i=0}^n \lambda_i T^i$ is quasinonexpansive.

Proof. If x_0 a fixed point for T, then for every integer $i \ge 1$, x_0 is a fixed point for T^i , then for $x \in C$, since

$$\sum_{i=1}^{n} \lambda_i \|x_0 - T^i x_0\| = 0 \le \|x_0 - x\|$$

The fact that T is a $C_{\lambda_1,\lambda_2,\ldots,\lambda_n}$ mapping gives that

$$\|x_0 - \sum_{i=0}^n \lambda_i T^i x\| = \|\sum_{i=0}^n \lambda_i T^i x_0 - \sum_{i=0}^n \lambda_i T^i x\| \le \|x - x_0\|$$

which is the desired result.

Proposition 3.3 Let *T* be mapping on a subset *C* of a Banach space *X* and let $\lambda_0, \ldots, \lambda_n \in (0, 1)$ with $\lambda_1 > 0$ and $\sum_{i=0}^n \lambda_i = 1$. Assume that *T* is a $C_{\lambda_1, \lambda_2, \ldots, \lambda_n}$ mapping.

(i) Then the set F(T) is closed.

(ii) Assume that C is convex and the Banach space X is strictly convex. If F(T) =F(P(T)), then F(T) is convex.

$$P(x) = \lambda_0 + \dots + \lambda_n x^n.$$

Proof. Let (x_n) be a sequence in F(T) converging to some $x_0 \in C$. Thus $(x_n) \subseteq F(T^k)$ for all integer k = 2, ..., n. Since $\sum_{i=1}^{n} \lambda_i ||x_n - T^i x_n|| = 0 \le ||x_n - x_0||$ for $n \in \mathbb{N}$. The fact that T is a $C_{\lambda_1,\lambda_2,\ldots,\lambda_n}$ mapping implies that Then

$$\limsup_{m \to \infty} \sum_{i=0}^{n} \lambda_i \|T^i x_m - T^i x_0\| \le \limsup_{m \to \infty} \|x_m - x_0\| = 0.$$

Since $\lambda_1 > 0$, it follows that for i = 1, we get

$$\limsup_{m \to \infty} \|x_m - Tx_0\| = 0.$$

Hence, the sequence $\{x_n\}$ converges to Tx_0 which gives that $Tx_0 = x_0$. (ii) Let $x, y \in F(T) = F(P(T))$ with $x \neq y$, put $z = \lambda_1 x + (1 - \lambda_1)y \in C$. Thus we have

$$\|x - y\| \le \|x - P(T)(z)\| + \|P(T)(z) - y\|$$

$$\le \sum_{i=0}^{n} \lambda_i \|x - T^i(z)\| + \sum_{i=0}^{n} \lambda_i \|y - T^i(z)\|.$$

$$= \sum_{i=0}^{n} \lambda_i \|T^i x - T^i(z)\| + \sum_{i=0}^{n} \lambda_i \|T^i y - T^i(z)\|.$$

Since T is a $C_{\lambda_1,\ldots,\lambda_n}$ mapping and $\sum_{i=1}^n \lambda_i \|x - T^i(x)\| = \sum_{i=1}^n \lambda_i \|y - T^i(y)\| = 0$. It

follows that

$$\sum_{i=0}^{n} \lambda_i \|T^i x - T^i(z)\| \le \|x - z\| \text{ and } \sum_{i=0}^{n} \lambda_i \|T^i y - T^i(z)\| \le \|y - z\|.$$

This implies that

$$||x - y|| \le ||x - P(T)(z)|| + ||P(T)(z) - y|| \le ||x - z|| + ||y - z||.$$

Since X is strict convex, there exists $\lambda_2 \in [0,1]$ such that $P(T(z)) = \lambda_2 x + (1-\lambda_2)y$. A similar argument as above shows that

$$(1 - \lambda_1) \|x - y\| = \|P(T)(x) - P(T)(y)\| \le (1 - \lambda_2) \|x - y\|.$$

and

$$\lambda_2 \|x - y\| = \|P(T)(x) - P(T)(y)\| \le \lambda_1 \|x - y\|.$$

So we obtain $1 - \lambda_2 \leq 1 - \lambda_1$ and $\lambda_2 \leq \lambda_1$ which gives that $\lambda_1 = \lambda_2$. Consequently, $z \in F(P(T)) = F(T)$ which is the desired result.

4 Convergence of Kirk's process

This section is devoted to the study of Kirk's process and to extend some of results given in [13].

Lemma 4.1 Let T be mapping on a convex subset C of a uniformly convex Banach space X and let $\lambda_0, \ldots, \lambda_n \in (0, 1)$ with $\lambda_1 > 0$ and $\sum_{i=0}^n \lambda_i = 1$. If T has at least a fixed point in C and T^i is a C_{λ_i} mapping for every integer $i \ge 1$. Then for every $x_0 \in C$, the sequence $\{x_n\}_{n\ge 1}$ defined by Kirk's process is an approximate fixed point sequence for the mapping $S = P(T) = \sum_{i=0}^n \lambda_i T^i$.

Proof. For $x_0 \in C$. Define the sequence $\{x_n\}$ by $x_{n+1} = \sum_{i=0}^n \lambda_i T^i(x_0)$. Assume that z is a fixed point for T in C. Then z is a fixed point for the mappings T^i for every integer $i = 2, \ldots, n$. Thus

$$||x_{n+1} - z|| = ||\sum_{i=0}^{n} \lambda_i T^i(x_n) - \sum_{i=0}^{n} \lambda_i z||$$

On the other hand, since for every integer $i \ge 1$, we have

$$\lambda_i ||T^i(z) - z|| = 0 \le ||z - x_n||$$

It follows that

$$||T^{i}(x_{n}) - T^{i}z|| \le ||z - x_{n}||$$

Hence

$$\sum_{i=0}^{n} \lambda_i \|T^i(x_n) - T^i z\| \le \sum_{i=0}^{n} \lambda_i \|x_n - z\| = \|x_n - z\|.$$

which proves that $\{||x_n - z||\}$ is a decreasing sequence. Then $\lim_{n \to \infty} ||x_n - z|| = l \ge 0$. Thus

$$S(x_n) - z = \sum_{i=0}^n \lambda_i T^i(x_n) - z.$$
$$= \lambda_0(x_n - z) + (1 - \lambda_0)y_n.$$

such that

$$y_n = \frac{1}{(1-\lambda_0)} \sum_{i=1}^n \lambda_i (T^i(x_n) - z).$$

Since

$$||T^{i}(x_{n}) - z|| = ||T^{i}(x_{n}) - T^{i}(z)|| \le ||x_{n} - z||.$$

Moreover, since $\sum_{i=0}^{n} \lambda_i = 1$, we get $\limsup \|z_n\| \le l$. Afterwards, the fact that $\lim_{n \to \infty} \|x_n - d\| = l$, $\lim_{n \to \infty} \|x_{n+1} - d\| = l$.

The uniform convexity of the space X implies that

 $\lim_{n \to \infty} \|x_n - z - y_n\| = 0.$

Since $S(x_n) - x_n = x_{n+1} - x_n = (1 - \lambda_0)(x_n - z - y_n)$ and $\lim_{n \to \infty} ||x_n - z - y_n|| = 0$, we obtain

$$\lim_{n \to \infty} \|x_{n+1} - x_n\| = 0.$$

which is the desired result.

Lemma 4.2 Let T be compact continuous mapping on a uniformly convex Banach space X and let $\lambda_0, \ldots, \lambda_n \in (0, 1)$ with $\lambda_1 > 0$ and $\sum_{i=0}^n \lambda_i = 1$ and T^i is a C_{λ_i} mapping for every integer $i \ge 1$. Assume that the following holds:

(i) T has at least one fixed point,

(*ii*) For every $z_0 \in F(P(T))$, the first alternative in (*iii*) of Lemma 1.3 holds for all $x, y \in O(z_0)$.

Then for each $x_0 \in X$ the sequence $\{S^n(x_0)\}$ converges to a fixed point of T.

Proof. Lemma 1.5 shows that F(T) = F(P(T)). Moreover, from Lemma 2.1, we deduce that S is asymptotically regular, now the rest of the proof is the same as that given in Corollary of [13].

Definition 4.1 A mapping $T : C \longrightarrow C$ is said to be demiclosed at $y \in C$ if Tx = y whenever $(x_n) \subset C$ with x_n converges weakly to x and $Tx_n \longrightarrow y$. T is said to be demiclosed if T is demiclosed at any point of C.

By adapting the same techniques in the proof of Theorem 3 in [13] we obtain the following result.

Proposition 4.1 Let $T: C \longrightarrow C$ be a mapping on a closed bounded convex subset of a uniformly convex Banach space X and let $\lambda_0, \ldots, \lambda_n \in (0, 1)$ with $\lambda_1 > 0$ and $\sum_{i=0}^{n} \lambda_i = 1$ and T^i is a C_{λ_i} mapping for every integer $i \ge 1$. Assume that the following holds:

(i) T has at most one fixed point $z_0 \in C$,

(*ii*) the mapping I - S is demiclosed,

(*iii*) For every $z_0 \in F(P(T))$, the first alternative in (*iii*) of Lemma 1.3 holds for all $x, y \in O(z_0)$.

Then for each $x_0 \in C$ the sequence $\{S^n(x_0)\}$ converges weakly to $z_0 \in C$.

References

- D. Alspach, A fixed point free nonexpansive map, Proc. Amer. Math. Soc., (82) (1981), 423-424.
- [2] F. E. Browder, Nonexpansive nonlinear operators in a Banach space, Proc. Nat. Acad. Sci. USA., (54) (1965), 1041-1044.
- [3] P. N. Dowling and C. J. Lennard, Every nonreflexive subspace of $L_1([0,1])$ fails the fixed point property, Proc. Amer. Math. Soc., Vol 125 (2) (1997), 443-446.
- [4] J. G. Falset, E. Llorens-Fuster and T. Suzuki, Fixed point theory for a class of generalized nonexpansive mappings, J. Math. Anal. Appl., 375 (2011), 185-195.
- [5] K. Goebel and W. A. Kirk, Iteration processes for nonexpansive mappings, Contemp. Math., 21 (1983), 115-123.
- [6] K. Goebel and W. A. Kirk, Topics in metric fixed point theory, Cambridge Studies in Advanced Mathematics. First edition (1990).
- [7] K. Goebel, *Remarks on some problems in metric fixed point theory*, February (2012), 1-9.
- [8] D. Gohde, Zum Prinzip der kontraktiven Abbildungen, Math., 30 (1966), 251-258.
- [9] L. A. Karlovitz, Existence of fixed points of nonexpansive mappings in a space without normal structure, Pacific. J. Math., Vol 66 (1) (1976), 153-159.
- [10] M. A. Khamsi and W. A. Kirk, An introduction to metric spaces and fixed point theory, Pure and Applied Mathematics: A Wiley-Interscience Series of Texts, Monographs and Tracts, 2001.
- M. A. Khamsi, A nonstandard fixed point result in L¹([0, 1]), Revista. Colombiana. De. Mathematica., Volume XXVII (1993), 137-146.
- [12] W. A. Kirk, A fixed point theorem of mappings which do not increase distance, Amer. Math. Monthly., 76 (1965), 1004-1006.
- [13] W. A. Kirk, On successive approximations for nonexpansive mappings, Glasgow. Math. J., Vol (2) (1), (1971), 6-9.
- [14] P. K. Lin, Unconditional bases and fixed points of nonexpansive mappings, Pacific. J. Math., Vol (116) (1), (1985), 69-76.
- [15] B. Maurey, Points fixes des contractions sur un convexe fermé de L¹, Séminaire d'analyse fonctionnelle 80-81-École polytechnique, Palaiseau.
- [16] T. Suzuki, Fixed point theorems and convergence theorems for some generalized nonexpansive mappings, J. Math. Anal. Appl., 340 (2008), 1088-1095.